

District Health Assessment for Multiple District 5M through April 2014

ATERNA	IONAL P				Clubs							Meml	bership				Member	Strength		Cancellat	tion	Re	ports	Finance	L	eadership
District Name	Status/ Number of Months in Status *	Active Clubs	Clubs in Status Quo	Total Clubs	% Status Quo Clubs in Financial Suspension	New Clubs	Cancelled Clubs	YTD Net Club Gain/ Loss	Current Members In Active Clubs	Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	YT NetGi YTD (inclu Drop Active Status	rowth udes e and	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelled Club Age	Members Lost Due to Cancelled Clubs	% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	Number District of Officers Region Vacancies Chairs ** Recorded
5M 1		50	0	50	0%	1	0	1	1,86	10	1,861	185	127	58	3.22%	1,791	37	10%	0	0	0%	14%	0%	2%	6	0
5M 2		63	0	63	0%	0	0	0	2,42	70	2,427	164	177	-13	-0.53%	2,434	39	14%	0	0	0%	5%	3%	2%	11	3
5M 3		45	0	45	0%	0	0	0	1,26	B 0	1,268	78	140	-62	-4.66%	1,300	28	33%	o	0	0%	33%	4%	4%	8	2 2nd VDG
5M 4		56	0	56	0%	0	0	0	1,56	9 O	1,569	97	72	25	1.62%	1,558	28	30%	0	0	0%	34%	2%	5%	8	1 1st VDG,2nd VDG
5M 5		42	0	42	0%	0	0	0	1,40	60	1,406	98	138	-40	-2.77%	1,457	33	31%	o	0	0%	21%	0%	0%	8	1
5M 6		39	0	39	0%	0	0	0	1,49	90	1,499	156	122	34	2.32%	1,484	38	28%	0	0	0%	10%	0%	0%	0	0
5M 7		52	0	52	0%	0	0	0	1,93	B 0	1,938	131	138	-7	-0.36%	1,964	37	17%	0	0	0%	21%	0%	2%	9	0
5M 8		77	0	77	0%	1	0	1	3,04	30	3,043	242	205	37	1.23%	3,004	40	10%	O	0	0%	1%	0%	1%	11	0
5M 9		66	6 O	66	0%	0	1	-1	2,38	в о	2,388	218	216	2	0.08%	2,414	36	18%	11	20	100%	3%	0%	0%	9	0
		490	0	490	0%	2	1	1	17,39	90	17,399	1369	1,335	34	0.20%	17,406	36	20%	11	20	100%	14%	1%	2%	70	7



District Health Assessment for Multiple District 5 through April 2014

ATERNA	IONAL P				Clubs							Memb	bership				Member	Strength		Cancella	tion	Re	ports	Finance	Le	eadership
District Name	Status/ Number of Months in Status *	Active Clubs	Clubs in Status Quo		% Status Quo Clubs in Financial Suspension	Clubs	Cancelled Clubs	Net		Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	Ne YTD (in Drop Act	ncludes tive and	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelled Club Age		% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	Number District of Officers Region Vacancies Chairs ** Recorded
5 NE		57	0	57	0%	0	1	-1	1,495	5 0	1,495	148	176	-28	-1.84%	1,544	26	30%	2	31	0%	28%	7%	12%	12	2
5 NW		47	0	47	0%	0	2	-2	1,270	0	1,270	104	208	-104	-7.57%	1,370	27	32%	44	47	50%	21%	0%	4%	6	1
5 SE		49	0	49	0%	0	1	-1	1,438	; O	1,438	102	101	1	0.07%	1,469	29	29%	3	0	100%	20%	0%	2%	3	0
5 SW	T(24)	35	0	35	0%	0	1	-1	859	0	859	62	100	-38	-4.24%	917	25	43%	3	32	0%	9%	0%	9%	7	2
		188	0	188	0%	0	5	-5	5,062	2 0	5,062	416	585	-169	-3.23%	5,300	27	32%	19	110	40%	21%	2%	7%	28	5



District Health Assessment for Multiple District 9 through April 2014

ATERNA	TOWAL				Clubs							Memb	pership				Member	r Strength	-	Cancella	tion	Re	ports	Finance	L	eadership)
	Status/ Number of Months in Status *	Active Clubs	Clubs in Status Quo		% Status Quo Clubs in Financial Suspension		Cancelled Clubs	YTD Net Club Gain/ Loss		Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	Net@ YTD (inc Drop Activ	ludes ve and	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelled Club Age	Members Lost Due to Cancelled Clubs	% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	Number of Region Chairs Recorded	District Officers Vacancies **
9 EC		49	0	49	0%	0	0	0	1,44	30	1,448	118	113	5	0.35%	1,432	30	41%	0	0	0%	18%	0%	2%	6	0	
9 MC		49	0	49	0%	1	1	0	1,28	30	1,288	122	132	-10	-0.77%	1,308	26	39%	37	10	100%	20%	4%	6%	7	0	
9 NC		51	0	51	0%	0	0	0	1,33	50	1,335	79	93	-14	-1.04%	1,368	26	35%	0	0	0%	31%	2%	0%	8	0	2nd VDG
9 NE		48	0	48	0%	0	0	0	1,43	30	1,438	79	83	-4	-0.28%	1,455	30	29%	0	0	0%	21%	0%	2%	6	2	
9 NW	T(24)	44	0	44	0%	0	1	-1	99	70	997	59	75	-16	-1.58%	1,042	23	41%	32	0	100%	27%	0%	0%	7	0	2nd VDG
9 SE		52	0	52	0%	0	0	0	1,33	10	1,331	87	83	4	0.30%	1,335	26	37%	0	0	0%	19%	4%	2%	8	1	
9 SW		56	0	56	0%	0	0	0	1,47	4 0	1,474	87	109	-22	-1.47%	1,498	26	46%	0	0	0%	14%	0%	4%	13	0	
		349	0	349	0%	1	2	-1	9,31	10	9,311	631	688	-57	-0.61%	9,438	27	38%	34	10	100%	21%	1%	2%	55	3	



District Health Assessment for Multiple District 27 through April 2014

CATERNATION	MAL P				Clubs							Meml	bership				Member	Strength		Cancellat	ion	Rej	ports	Finance	L	eadership
District Name o	Status/ Number of Months n Status *	Active Clubs	Clubs in Status Quo	Total Clubs	% Status Quo Clubs in Financial Suspension	New Clubs	Cancelled Clubs	YTD Net Club Gain/ Loss	Current Members In Active Clubs	Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	NetG YTD (incl Drop Activ	e and	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelled Club Age	Due to	% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	Number District of Officers Region Vacancies Chairs ** Recorded
27 A1		52	0	52	0%	0	0	0	1,83	0 0	1,830	128	149	-21	-1.13%	1,855	35	19%	0	0	0%	15%	0%	0%	10	0
27 A2		47	0	47	0%	0	0	0	1,63	30	1,633	103	110	-7	-0.43%	1,645	35	21%	0	0	0%	4%	0%	2%	8	0
27 B1		71	0	71	0%	0	1	-1	2,12 [.]	10	2,121	133	138	-5	-0.24%	2,143	30	27%	37	12	0%	11%	0%	4%	13	0
27 B2		72	0	72	0%	0	0	0	2,42	50	2,425	150	166	-16	-0.66%	2,466	34	25%	0	0	0%	11%	0%	1%	10	5
27 C1		56	0	56	0%	0	0	0	1,55	50	1,555	98	125	-27	-1.71%	1,589	28	29%	0	0	0%	13%	0%	2%	10	0
27 C2		44	0	44	0%	0	0	0	1,590	0 0	1,590	109	116	-7	-0.44%	1,594	36	25%	0	0	0%	16%	0%	0%	9	3
27 D1		57	0	57	0%	1	0	1	2,22	50	2,225	260	195	65	3.01%	2,205	39	16%	0	0	0%	2%	0%	4%	15	0
27 D2		48	0	48	0%	0	0	0	1,64	50	1,645	119	152	-33	-1.97%	1,684	34	21%	0	0	0%	15%	0%	0%	7	5
27 E1		48	0	48	0%	0	0	0	1,69	70	1,697	137	146	-9	-0.53%	1,718	35	23%	0	0	0%	17%	4%	2%	7	2
27 E2		48	0	48	0%	0	0	0	1,80 ⁻	10	1,801	120	93	27	1.52%	1,769	38	17%	0	0	0%	25%	0%	2%	7	0
		543	0	543	0%	1	1	0	18,52	20	18,522	1357	1,390	-33	-0.18%	18,668	34	22%	37	12	0%	13%	0%	2%	96	15

* - District Status: P - Provisional, T - Transitional.

** - District Officers Vacancies: DG - District Governor, 1st VDG - First Vice District Governor, 2nd VDG - Second Vice District Governor.